BH1—2

Ik 3 0 FETRRIKEEIRE BHEFEEENMOIREANTEEEREEDTERICONT T O R (—ARHEE) | THREIRERA. TABREAR SEARR 3, RERENSER 1 CLNRESNTMR30E7 8 1 ABE0F 7
QX FEIECEDEEEHENZSEEREL. SEBEHBEN SR 2(ICEDIRESNIZERI0ERZEDN D7TAEBRDOT —2E(GGHE
({BU. T O J(3#%30 1 (CEDERESNIFERK29FE7H 1H~FEKI0FE6H30B DT —5%2E(GGHE. [ P IEER LCLDIBREENTERI0EH DT -2 E(GGTE)
KIERNSICEERDHDRARD/F—  IRENBSESMEAI->IDOIER] B : kNS SEREHI>E2E8E(2ME] C RGNS >ESE%E O11EHA
MEEAXITHWSIEE
EEREH - HHOXNEE(IXDIR 1] XBEZELIIEBZEE o EHEHROR SR (X452 | xEtsRL I EEEEE
- R A B C D E F G H I ] K L M N 0 P
wom | | — awe | emao| ZEEE Lo Cocl | e R e B s S s PR (TR0 [ R RS o 2 e SRR
BE¥RES X &) & G WS Fife Fili o Fili e B e ZEIEE |3#EE Fii TR (B2 |pax saaa
2.0 0.5 0.5 0.0 0.0 0.5 0.0 0.2 0.2 8.0 2.0 0.1 0.1 1.0 10.0 Fi50%
I:25%
NBtE| M | Wbt [HILAEOK JRAR & 4HR & 14HA 44 44 (st 73t 1 ABeaAR = 4HR
NEEEER| JEm | &b |FEE) Rk 2PEER E14HA &14HA 28 28 [EERIFEAREARR 1 1.07 &4HA
NEEEER| N | R |FEE) Rk 2[E7E & 14HA &14HA 60 60 |[EERIRAREAN 1 2.00 & 4HA
NEELE| J#d | wBe | FEE) Rk 3T & 14HA & 14HA 60 60 |[FEERIRAFTEARN 1 0.02 4.45 & 4HA
NEgEE®| JNEm | Kb [FER) R 4PE7E & 14HA & 14HA 60 60 |[FEERIRATEAR 1 0.03 3.63 & 4HA
JNEgEdR| )#kr bt PR | R SP&EPE & 14HA 8 4HR 60 60 | EERFEAFTEAR 1 1.93 & 14HA
N )#kT whe  [EEEATIEZESAN R 2. 3[R SU4HER [El1EHR C 70 60 |iEaEs 7 ARERSEN2 | 0.72 1.12 0.77 3.52 8.7 [Cl{EHA
NEEELR( )1k wbt  |EFEANTERR — IR SU4HER Bl 76 37 Hitsk—Ag A B 2 0.92 [EI1EHA
| )IRgH | R |)IMERERER AR SR SRR 40 40| 2 EEA—ARABE#Y 5 | 0.58 | 0.40 | 0.38 0.08 423 | 2.43 | 0.40 0.28 | 6.88 | 329 | =M
| )IdH | Rk | EEERNAZREERT Y- SPEChIURIR SE2M SRR B 50 50| MEH A& AR 1| 0.54 | 0.10 | 0.04 2.68 | 1.12 | 0.10 | 0.02 | 0.18 | 2.82 | 33.5 | =M
NEEEELR( )18 wht B EERKFERESERE> Y- 1 OB SRR =E R4 S4EA B 54 S4(2MEA—E ARl 1 | 0.09 0.09 0.19 0.89 0.24 0.06 0.26 3.63 42.0 SMEHR
M| )IMH | Rk | EEENAZREERT Y- 3BEERIRAR SERUE | SE2EH 46 46|/ NEARERSER 1| 0.50 | 0.02 0.02 0.33 | 0.59 | 0.02 0.09 | 6.63 | 68.2 |EE=M4H
JIHtER| )I#H | Kk | BEENAZREEETS Y- ABEERIRIR EERUE | SE4EH 50 50|&HA—AR AR 1| 0.84 | 0.38 | 0.26 0.02 11.48 | 1.30 | 0.38 | 0.10 [ 0.98 | 3.46 | 50.7 |=EE=4H
N )T wht  [BEERAFHRESERE Y- SREERIRIR =EESEH SU4ER B 50 S50(24HEA—m ARt 1 | 0.20 0.04 1.98 0.44 0.04 0.04 0.60 2.10 39.5 SU4HR
NiEgEd| NEm | &Kk |[ESEERKERSERE> Y- 6P ERIRAR =EESMEH SU4HR B 50 S50(2MHEA—MR AR 1 | 0.98 0.10 0.44 2.34 1.72 0.10 0.06 0.42 1.64 40.1 SU4HER
L] )IfgH | Rk | BEERNAZREERT Y- 7BEERIRAR SE2UE | SE2UH 50 50| 2R AR 1 | 2.24 0.40 0.02 2.64 | 3.72 0.02 | 0.10 | 2.52 | 21.6 |EER4H
| )IMH | Rk | BEERNARREERT Y- SREERITIR SE2MH SRR B 50 50|22 AR 1 | 0.04 0.04 0.08 0.06 1.58 | 0.92 0.44 | 420 | 37.6 | =M
JIHLER| IMH | Rk | EEENAZREERT Y- IR ERIRIR SE 2 SR B 54 54| 2R —AEABTR 1 0.02 0.02 | 0.09 0.02 | 243 | 2.06 | 37.1 | =i
NEgEEdR| ) wbt  |BEERIAKFERESERE Y- 1EGCUmHR SEESUH | SER4H 48 48 |FemEEE ARER 2R 0.15 1.13 EESMEER
N )EkT wht  [BEERAFHRESERE Y- EINICURAR EESMH | SER4H 60 60 [eemmmmenren smen wen | 0,03 0.03 5.87 0.15 7.10 EES4ER
N )1EkT wbt BB EERIKZEHRSERT>Y— 1EMFICURER EESMH | SER4H 8 8 [eemmmmnsins wan wuome 0.75 1.25 2.50 EESMEE
NEgEd| JNEm | &Kk |[ESEERKERSERE> Y- FAMFICUYRAR EESMH | SES4H 22 22 [remumsnsmens wn @amo | 0,09 0.64 1.14 3.00 EES4ER
It IMH | Rk | EEERNARZREERT Y- I ICURER | BERMN | SE2EH 20 20| fsnt R A B 4 2.50 | 0.05 0.05 | 0.80 | 1.05 | 095 | 9.20 | 4.10 | 0.05 50.55 SESE
M| )IMH | Rk | EEENAZREERT Y- 2BEGICURRR | BESME | SE2MH 20 20|15 Eetam=eEna | 485 | 090 | 1.35 | 0.10 | 0.15 | 055 | 0.15 [ 0.75 | 1.45 | 7.45 | 6.40 | 0.90 29.25 EESE
ML )IMH | Rk |[BEENAZREEERTS Y- 2BEFEHCURAR | BESME | SE2MH 32 32| fEn A BT 1 1.09 | 0.03 0.03 5.13 | 1.19 | 0.03 5.31 SESMR
JIHLER| )I#H | Wik |[BEENAZREEETS Y- 3BEPICUSRR SERUE | SEEH 16 8| nerEehamesEn | 0.88 | 0.13 1.13 | 0.63 6.00 | 1.00 | 0.13 38.75 EE SR
ML )18k wbt B EERIKFERESERT Y- B 3PERiR EESMEH SU4ER B 31 312 EEA—m AR 1 | 0.06 1.13 1.19 0.68 SR (ERY)
| JigH | Rk |[BEERNAZREERT Y- 10BS7aRAR SE 2 SRR B 54 S4|2MEI—#E AR 1 | 0.15 | 0.13 | 0.07 0.02 456 | 0.30 | 0.13 | 0.22 | 2.46 | 3.78 | 29.3 | ZHitHp
NEgEE®| JNEm | &bk [BEERAFRESERT Y- 3PEFERIR SE2ME (s ER-R 42 42 |2MHEA—AE AR 1 | 1.40 0.93 0.10 3.00 1.86 0.93 0.10 0.79 1.19 36.7 |mimm @R
M| )IdH | Rk | EEENAZREERT Y- ABETIRIR SE2MH SRR B 42 2| EE— AR 1 | 0.29 | 0.17 414 | 0.74 | 0.17 0.19 | 0.76 | 36.7 | =M
M| )IMH | Rk | EEENAZREERT Y- SRSTEIRAR SE 2 SRR B 50 50|24 HA—A% ARl 1 | 0.02 | 0.02 | 0.06 040 | 1.36 | 0.02 | 0.06 | 1.02 | 4.58 | 28.1 | =iy
JNEEEEdR| )#kr wht  [BEERAFHRESERE Y- OFEPEIRAR EESEH S4ER B 20 20| 4HA—A ARzt 1 | 0.05 0.90 0.20 0.05 0.95 6.65 40.9 SU4HR
ML )EkT Wbt [BEERAFHRESERE Y- 2PEFEIRR =EESEH SU4ER B 42 42| —g AR 1 | 1.69 0.67 1.79 0.86 32.2 SU4HER
NggtEDR| JIEm | Kb iR =80Rb 2BERAR =MEHR [El{EHA C 35 35 | B IE R AR 2 0.20 7.7 [El{EHA
NEER| JEm | Kb |FHE=E0RE 3FERER SU4HER SU4HR 34 34(2MH—MARR 4 | 0.41 1.44 0.59 3.62 55.9 SU4ER
NEgEE®| JNEm | &bk [FHR=50RF 4PETRIR SI4HA S4HA 30 30 (2 MHA— AR A BTt 4 2.07 0.17 0.20 3.47 54.1 S4HEA
Nt J#Em | Kk |EEREAMEIRE SR 1 7w & 14HA & 14HA 60 60 |[FEERIRAFTEAR 1 & 4HA
NEgkEdR| )# wbt  |EREEAMHEIRERSZ AR 2 JRtR & 14HA 8 4EHR 42 42 | EERIRABTEARN 1 E14HA




BH1—2

MEEANITHVWSIER
SESMH-SUROXSERIRSR 1] xBEEZELIHEZEE [t - EHEIOX ISR (X8 2 | Nt r B T AR A
- o A B C D E F G H I J K L M N 0 P
wm | o | 5 s, mws |tomeon| RS S| O | M8 | e S s T s [T wans [P [t [ | IR By [roncs o) T
RETRES X ) 7 JEABEA R il iy Fi o Fit e iyl e zEE  |3mEE i e (B2 [ i
2.0 0.5 0.5 0.0 0.0 0.5 0.0 0.2 0.2 8.0 2.0 0.1 0.1 1.0 | 10.0 Fi50%
I:25%
JIMgtEd| N#m | &k |[EEREAEHEE SR 3 JmAR 1S14HA 1S14HA 34 34 [EEREAGEAR 1 0.03 1S14HA
NEgtEd| NEm | &k |([EEREASCE=HRE E—IRAR S%HER S04 46 46| 2MEH—REABER 1 | 0.74 0.13 0.17 2.52 0.98 0.13 0.04 | 12.04 | 39.1 SR
Nggted| NEm | &k |([EREASCS=HR B RAR S4HER S4HA 37 37 (BRI 1 | 0.62 0.05 0.03 1.54 1.05 0.05 0.08 | 11.11 | 28.1 SR
LT )1#T wbe  [EREARBE SR 2 PEIRAR 4R =4RR 41 39| MEA—MRAREAL 1 | 0.49 0.15 0.08 0.05 5.21 0.87 0.15 0.03 7.87 45.3 S4HA
Nl JI@m | R [EEREAREEHRSR 3 bS5 A SRR S4ER S4EA 38 37 (BRI 1 | 0.68 0.03 0.08 1.54 0.84 0.03 0.03 7.19 38.6 S4EA
N )ET bt |EREEARBE RS 3 & BRAR AR NER 38 O| ABHlDELE AL “NBR
NBtER| J#Em | Kb |EREARBESSRT 4 PEIRIR [Cl{EHA [El{EHA 68 50 | BIEs PR 2 0.08 16.2 [El{EHR
Nt @M | &k |EEREARESESEmRRT (FOEHIR [EEHA [B{EHA 37 37 |mmsmone vr-vavmim Am 1 [E1EHA
NEgLEd| g | Rk [EREABRLERESERERE EBTRR [E{EHA [El{EHA 43 43 (e v7-yamstR. AR L [El{EHA
NEgEE®| NNEm | &k [EREABRLERESERERE PELSHR [EI{EHA [El{EHA 43 43 |eispne v7-vami AR 1 [Cl{EHA
NEgted| Ndm | &k |[EREARESESEmRwRi I HNIRIR 1S 14ER 1S 14HA 37 37 |mmsseasion 1 AREAR S 14HA
NNFEEEAR| )18k wbe  |EREEABIERESERERE SUIRER & 4HA &4RA 39 39| EERRABTEARN 1 & 4HA
Nt R| Ndm | &R [(HSEEREAMERERSROERE | 3 BERIR SI4ER SR 32 2|2 —MEARTR 1 | 1.81 0.78 2.34 2.34 0.78 7.88 46.3 |mmm @
JIMtEd| NI#m | &k [HeEEEAHEEERTLERE | 4 BERIR SI4ER SR 41 41|23 —REARBER 1 | 0.59 0.20 0.32 2.78 1.51 0.20 0.24 | 13.00 | 28.6 S4HA
Niggtere| JNEgm | At [HEEREAAHEESROERPE | 5 ERER SRR [El{EHA C 42 42 Mg aiEs PRRA BT 2 0.12 0.02 6.50 [El{EHA
JEgtEd| NEm | &R [HeEEEAHERERTOERE | 6 BERIR SI4HER S4EEA 35 352 MR —AR AR 1 0.14 0.03 1.54 0.29 0.06 | 13.97 | 31.8 S4EHA
NEgtEd| NEm | R [HeEEEAHERERSTOERE | 7 BERIR S4ER S4EA 48 A8|S2MHA— M ABTAL L | 1.56 0.15 1.33 2.10 0.48 8.29 28.5 S
NFEEEDR| )18k fmbt  |EEEARERELASERT AJRIR 4R [El{EHA C 60 60| —RR AR 2 | 0.22 0.03 0.02 0.77 0.37 0.03 0.08 4.22 27.9 [EI1EHA
NBtE| JN#m | Wbt |EFREALERGASBERT B J&tR =gkl 12EHR 16 16 [mEssins 108 1 ABEAR 0.06 12EHR
JIEtEd| #H | Kk |[EEEAERE ORBEARG SRbT — R AR 1 [CHEHA [B{EHA 60 60 | Hhisk—M ABTAY 3 1.62 0.33 0.13 [E{EHA
JIEgEtEd| JEm | &k |EEEAEREORBEART SR —R%RAR2 [CHEHA N 34 O ABERIDEL 2L BR
Jdgted| NEm | &k |EEEAREREORBEART SR BERIR 1S 14HR 12 14HA 48 A8 | BRI ASTEAR) 2 1S 14HA
Jdgted| JEm | i |EEEARERE EREERIR 1S 14HR 1S 14HA 10 10|EERARABTEAR 1 1S 14HA
JIEgted| NEm | &R |EEEARERE NEEERIR 1S 14ER 1S 14HA 61 61 [remnmnupmmimsy -t S 14HA
Nt JI@m | R |IRE RO 2PERAR 1E14ER 1S 14HA 50 50 [EEREABGEAR 1 1S 14HA
JIEtEd| NBH | bt [IRE PSR 3PEIRAR 1214HA 1214 HA 50 50 [EEREABEAR 2 0.60 1S 14HA
NIged| JIEm | &b JIEIN\EYT -3 2 PRI [EI{EHA [El{EHA 53 53 |mrisgpunev5-savibe Ak 3 [El{EHR
JEgEted| NEm | wBT [JIBUNEYT a5k 3 BEIRIR [EHEHA [E{EHA 49 A9 |EHEABIIe V7537t AR 1 [E14EHA
Jggtede| NEm | & [JIBUNEYT -3 5k 4 PEIRIR [EHEHA [E1{EHA 49 49 |BHEmIIE 753 ABER 3 [E1EHA
LT )1#T wbt  [EREARERRR AR AERIRO L SI4HA [El{EHA C 49 49| MHA—AE AR5 | 0.06 0.06 0.20 0.16 2.55 [El{EHA
LR )1#kT whe  |EREEARIESRR SMEHAREAERIR02 SI4HA [El{EHA C 49 49 |2 MHHEA—A ABTAt 5 2.14 0.02 3.43 [Cl{EHA
NBtE| JI#m | Wbt |[EFREARESR SIEEAARRIR03 | R4EA [El{EHR C 49 49 [tusmEsy AREmEEN2 [ 0.29 0.45 2.73 [Cl{SHA
JIdEted| NIBm | &bt [FEEaRbt 2 BEEZ=RAR S4HER SR 31 31 (SRR AR 4 12.16 | 74.1 S4HA
JIEgEtEd| JI@m | bt [FEEaRbt 3 B AJRIR S4ER SR 54 S54|2HH—ME AR 4 | 0.57 0.02 0.04 0.80 0.74 0.02 4.69 59.3 S4HA
N )T | & |EhamEbk 3 B& BIwtR & 14HA &14HA 52 52 |m=ammasion 1 AREAR 0.02 0.02 0.04 0.29 & 4EHR
NELtER g | R |EEREABIRT SRR — AR S4ER S4EA 50 502 MHEEA— A ABER) 7 3.12 S4HA
Nl AL | Rt [SRARILERRRT 2PERAR S4ER S4EA 23 23|25 | 1.22 0.13 0.09 2.39 1.52 0.13 0.17 6.83 43.7 S4EA
JIMEtEd AR | bt [SRARLERRRET 3PERIR S4HER SR 60 37 | —AR ABEAY 5 1.43 0.08 0.22 3.35 37.7 S4HA
Nl RAnLm | RBT  [SRARILERRT ABEERIFIR SI4HER SR 94 60| 2 MHEHR— A ABTAY 5 0.07 2.17 37.5 SR
JIdgEtEd AR | BT [SRARLLEERRET 3FEEIRIR [E{EHA [E1{EHA 38 38 [tteigiiE s PRERA B 2 0.16 0.16 20.8 [E14EHA
It =Nl B A b S NN e ESS N 7 ABEmEIRAR 1S 14HR 1S 14HA 46 46 |EERRASTEAR 1 1.72 0.02 1S 14HA
N d| ARl | mbe  [SRARILmIz T ERRbE 3A 204 S4HA 37 37|2MHR M AR 1 | 0.14 0.14 1.30 0.76 0.24 | 12.95 | 40.1 S
NEEE®| /AT | Wb [Tz R 4 A SI4HA [El{EHA C 36 36| —ME ARt 1 | 0.78 1.19 0.86 6.31 18.3 [EI1EHA




BH1—2

MaE75L I THAVSIER

SESMH-SUROXSERIRSR 1] xBEEZELIHEZEE [t - EHEIOX ISR (X8 2 | Nt r B T AR A
. o A B C D E F G H I ] K L M N 0 P
cum | | cnws O P e s O O oY - PP o ey e o e ) O 2.3 o et e P e
REFRES X ) o JEABEA R il =i Fity o Fit e ) s 2EEE | sHES e e (B8 |piz oz
2.0 0.5 0.5 0.0 0.0 0.5 0.0 0.2 0.2 8.0 2.0 0.1 0.1 1.0 | 10.0 Fi50%
M:25%
NEEEE®| S|AR™ | Wb |z T RRb 5A SU4HEA SU4HA 37 37| —f ARl 1 | 0.16 0.08 0.35 0.84 0.19 11.14 39.0 SR
N RARL™ | &K |[EREAEERRERRE 2PERIR SU4HER =EESMEH 15 12|24 EA—fE ABT4t 6 | 4.67 0.08 2.58 4.83 2.67 47.3 |SER4H
Jgted | FTRLm| Hwr  |(EREEABRERERRER SRR S4HER [E1{EHA C 60 53| — M ARTER 6 0.79 0.49 0.98 9.6 [E14EHA
Jgted| LT | e |EREABRERERRER ABEIRIR S4ER [E14EHA C 47 362 MEHA— AR ABER 6 0.11 1.67 20.4 [E1{EHA
NEgLE®| T/ARL™ | &b [EREAEERERRER SBERAR 4R [EI1EHA C 48 38| MHR— AR AR 6 0.76 0.87 0.03 1.11 16.3 [CI1EHA
NEEE®| F|ARL™ | &b [Sv0-L%KE —R%IRAR SU4HEA [El1EHA C 25 23 [Htsk—fis AT 2 0.35 0.26 3.61 [El{EHA
JNEEE®| F|AR™ | &b [Sv0-L%Kk TRANT IR & 14HA & 14HA 30 20 [¥EFT 7IRERA Bt 1.20 & 14HA
Ngted| FFEm | Kk |EEEAHEBISSEE R BEIRIRA 2R 1S 14HA 1EM4EEA 42 42 [EERRARREAR 1 0.07 5.02 0.07 1S 14HA
Nt tRFEm | R [REH SRR 2FRRR SU4HER SU4HR 47 47 | 2R —AE ABTAL 4 0.26 0.11 0.04 4.74 36.5 SU4HR
N#gted| REm | Wbt [JREHSmEET 3F - 4FJRIR S4ER N 95 60| ABERIOE AL 0.35 0.02 0.08 2.03 0.63 0.02 0.37 2.43 33.6 N
Ngted| REm | &b [JREHPRERT BERIR SRR 12 14EHA 50 45| BRI ASTEAR) 2 S 14HA
N#gtE| RE™M wbe  [EREAHEND T 7=EKKER SMEHARAERIR0 1 S4HER 4R 36 36 | —MmARIE B A BT AR 0.19 14.81 S4HA
N#tEd| kRFEm | b |EREANEESEERR e T -k | [O{EHEA [El{EHR 60 60 [[=HEgIne y5-y3 R ABER L 0.03 [El{EHR
N#tEd| kRFEM | b |EREANEESEER EmERFRARERN | [S4HA & 14HA 52 52 [FEERRABREAR 1 1.73 0.04 1.25 &4HA
JMgted| RFEm | Ak (BB FEFEMIEIRERFERbT —RSIAR SRR [E1{EHA C 60 S22 —MEARTR 7 | 0.02 0.02 0.31 1.13 0.04 17.8 [E1EHA
ML) 8528 | bt (BBt &Rk BERARL 1S 14HR 12 14EHA 45 A5 | BRI ASTEAR 1 1S 14HA
Jtb| #8285 | it (BBt amk BERIR2 1S 14HR =3t 45 A5 |EERRASTEAR 1 1S 14HA
Jtb| #8r BT | it |EEEABRBRET I BE 2 PR AR S4ER S4EA 41 41 (2R REABER 1 0.07 0.05 0.29 | 10.71 | 33.8 S4EA
JtEd| #8Br8m | it |EEEABRESRE I BB 3 PR AR S4ER S4EA 41 41| 2MHEE— RS AR 1 0.76 0.10 0.10 | 10.80 | 53.2 S4EA
JIHtbt| #8855 | bt |EFEEAREBIRE BREE2 PRI SRR 2EEA 45 45|2MEH—REARER 1 | 0.56 0.27 0.18 0.07 4.42 1.42 0.27 0.24 | 10.36 | 34.0 2EHA
N#tEd| #5585 | bt |EFREAREBRET 1tEE2BERAR SU4HER =EESMEH 18 13|24 —Ag ARt 1 | 0.23 0.23 0.23 0.92 10.08 1.08 45.31 93.4 |EEI4HA
NEed| BBy | K |EREAREBRE BREE3PERIR SMEHR [El{&HA C 47 A7| MR —MARTRI 1 | 0.43 0.04 0.81 1.15 0.15 8.45 28.2 [Cl{EHA
JHtb| #8825 | Mt |EEE AR A EE4 YRR [E14EHA [E14EHA 37 37 [MeisimiE s PR B 2 0.19 14.1 [E1{EHA
Nt E2ILET | &l AR ZREUXT A5 AIFHRAR [E14EHA [E14EHA 48 48|k —AE A BT 3 1.77 0.02 [E1EHA
NN#tbde| E2LET| Wbt (AR ZBUAAT LSS - EERg -S| [BI{EHA [Cl{EHA 60 60 | v5-samiR ABH 4 [Cl{EHA
Ngtbd| EZLE] | &bt AR ZEAXT DI EST— e IR 1=t T [El{EHA 50 50 et y5-537Hr Ak 4 [El{EHR
JIBELEE| B2ILET| T [ARSEEBUAAT IS~ BT PIRER € M4HA IS 4R 20 20 [#BAN T TR AR 1 0.10 S 14HA
N ESLET | Kb |[HOTEE Y- E1NOR2BRER|  I1S4HA 2 4EHR 60 60 |FEE s 105 1 ABEAR 2.50 2 4EHR
N ESLET | K |[HOTEBL> Y- B1XORIMRE| I1EM4EA &14HA 60 60 | 105 1 ABEAR 2.05 & 4HA
JItEd| E2ILET| AR [EEERKFERE ANEE7PE EE SR S4EA B 37 37 [memsemn—smm 7samman| 0,54 0.35 2.32 1.27 0.35 0.05 0.41 2.57 30.6 SRR
Nt E2LET| AR [EEERKFER N EE SR S4EA B 55 55 |wemmin—min 73amesn| 1,35 1.11 1.75 1.44 31.1 SRR
NIt R| E2LET| iR [EEERKFRE ANEEOPE EE 2R S4EA B 40 A0 |wemmr—mmm 731mx0| 0,28 5.78 0.08 3.15 2.9 S4HA
NgtE®| ESLBT| &K [BEERKZRR ALE10PE =EESMEH SU4HER B 52 52 [memsemr—mms 73 1mmsn| 1,60 0.06 0.19 0.48 2.96 0.06 0.42 1.08 31.1 SR
Ngtbk| E=ILE] | whe  [BEERKFERE AEE11PE =ESEHA =UEHR B 52 52 |wemsems—mmn 731mess [ 1,00 0.08 0.06 1.60 1.75 0.06 0.48 42.7 SUMEHR
JgtE| E2ILET | iR [EEERKFER FAEE 2P EE 2 SRR B 25 25 |wemiemp—amse 73 L AREAR 0.44 1.20 2 (ERY)
JIgtE| E2ILET | iR [EEERKFER FAEE4 P EESME | SES4H 42 RNEAREESER 1| 0.81 0.21 0.02 0.02 2.43 0.95 0.21 0.02 5.55 33.3 |EEAMH
Nt E2LET| AR [EEERKFERE FIAE 5P EE SR SRR B 47 47 |wensmr—nmm 731msx0| 0,06 0.04 0.62 0.72 0.02 0.68 0.47 36.6 S4EA
Nt E2LET| AR [EEERKFRKE FIRE6PE EE SR S4EA B 43 43 |wemsmr—nmm 731mex0| 0,02 0.02 0.02 0.35 0.47 0.35 3.12 35.8 S4EA
NgtE®| EZLET| &K [BEERKZ R FAEE 7 EESEH SRR B 28 28 |mmsem—amm 7311 amman | 1,68 0.50 0.04 1.82 0.50 0.14 2.64 25.4 4R
NIt E2ILET | KB [EEERIKFER FARESPE SESME | SESM4H 47 47 |wemsmr—mn 751mes|  0.02 0.02 0.13 0.32 0.23 0.87 0.02 1.85 1.98 24.8 |BEZMH
NIt E2ILET | KR [EEERKFER FAEEOPE SE SRR [C1{EHA A 45 A5 |wemmr—emn 73 men | 0,11 0.02 0.56 0.24 0.02 0.04 0.16 1.00 17.8 [E1EHA
JgtE| E2ILET | iR [EEERIKFER FIEE 10 SE SR S4HA 42 42 |wemmmr—nmm 7n1mesn| 0,17 0.24 0.02 2.88 0.52 34.2 SRR
Nt E2ILET| AR [EEERKFERE FAIAE 1 1 F EE SR S4EA B 42 42 |iensms i 751 AR 0.02 4.74 0.05 0.05 0.81 1.21 41.0 SRR




BH1—2

MaE75L I THAVSIER

BESUER - SEMOXDERIXDR 1] XBEEZRlIERZEE

- EE DR DS (X315 2 ] X EUEA RS IHEAEE

R I e Il N T T e T N T I TR TR L L e e
S B R I R e e B e I e [ el e L I i caall [0 oy puesiiom ook verdi B | PO ] P e
BEERES x | mE) T | [T | Fil | pan |0 | e |swme i e | BB o e
2.0 0.5 0.5 0.0 0.0 0.5 0.0 0.2 0.2 8.0 2.0 0.1 0.1 1.0 10.0 1307
I:25%

g ESILET| Kl [BEERASRE ICU BESMHR | SEMH 6 6| EEamEEEN3 | 4.00 0.33 0.50 | 1.83 | 23.83 | 4.00 19.33 SEREH
JNEtER ESILBT | e [EBEERKF R 1EJL56E RtRA [EI1EHA 5 O [t 7591 ApEAR [CI1EHA
NNEtER ESILBT | e [EmEERKF R 2E)L 3B RtRA [EI1EHA 48 O [romsemi—emse 7311 AN [EI1EHA
NNEER ESILET| & [SBEERKF R 2E)L4ARE RtR [EI1EHA 47 O [reemsmmm—sme 75 1 AREAR [EI1EHA
NNBtbR ESILET| & [IBEERAKRF R 2E)L5RE RtRA [EI1EHA 25 O |emmmm—swme 751 AREAR [CI1EHA
JIEEEER| EBILET | &b |EEERAERR PEAE SR SESMH [EEHA A 34 34 [remsmnn—mmn 731w 0.03 | 0.12 | 0.06 2.15 | 26.2 | [ENHEE
JN#EtbdR ESWLET| e  [BEERAKRF R FEEE6E SRS [El1EHA A 25 25 |rrimemp st 759 L AREAR 0.12 0.20 0.04 19.4 [El1EHA
NELER| ESILET | &b |JmEERKFER 1258E20 EESMEH [Cl1EHA A 2 O [rommeemim—semee 7311 ARz [EI1EHA
NNEtER ESILBT | e  [EBEERKF R REEGRE =EESMEH SU4HR B 4 4 | 75 L AREAN 36.75 55.1 SU4HER
NNEtER ESILBT| e |[BEERKF R EREE4FE =E R4 SU4HR B 35 35 |mmsemm st 7311 AR 1.17 0.17 0.03 0.86 1.43 39.9 SU4HER
NNEtbR ESILET| & [BEERKF R ABE7REHCU EER4H | SEX4R 8 8|y amERSER 1| 6.75 2.50 1.13 0.38 0.88 8.38 7.25 2.50 18.63 EES4EA
JN#ted ESILET | whe  [BEERAKRF R FAEE3MENICU EESUH | SEX4H 18 18 |eammmenean zmen @ 5.89 4.39 EE MR
N ESILE] | &b |EEERKFRKE FAEE3PEGCU SERMH | SER4H 18 18 [remammEmanen En 5.00 SRR
NELER| ESILET | &b |JmEERKFER FAEE2MEMFICU | SESUH | SESMH 6 6 |semmmmensins won Gmp 2.00 5.17 EESMEER
NNEtER ESILBT | e  [EBEERKF R EREE4FEHCU EESMH | SES4H 8 8|y AEREER 1| 0.13 0.13 1.63 10.88 0.38 23.50 EESMEE
NiEged| =ILE | wbe | EEELRRT 3 PEERRAR =4ER [EI1EHA C 39 39| HHEA—AR ABTAYL 5 0.23 0.23 6.38 19.9 [EI1EHA
NEgede| FILE | JwBe | EEELRRT 3 PEFaRAR [EI{EERA [EI1EHA 58 56 | v7-savishk Ak 2 0.04 [EI1EHA
NEgede| FILE | Jwbe | EEELLRRT 2 PEraRtR & 14HA &4HA 60 60 |[FEERIRAFTEAN 1 0.50 0.08 0.12 &4HA
Ngktede| mILET | "B (EEEIzEILE BETER =gkl 12EHR 65 60 [ 135 1 AREAN 12EHR
NNEEEELR( /0N H]T wbt  |ERSENRE R — IR S4HA SU4ER 41 34 Mgk —g A BTl 3 0.12 0.18 0.65 11.03 SU4HER
NNEEEELR( /)N H]T e | =N R AR 2 M4EER [C1{EHA 34 20| HBig—% A At 3 0.50 [CI1EHA
NFELER| AVJIET [ J&Be  |[MHIR Rk SR (HCU) | SESMH | SESUH 4 4| Moz A SRR IR 1 5.50 39.00 EES4ER
JNEEEEAR| /)N [E]T e [MIR+FmE 4 FEIRIR SU4HER [EI1EHA C 42 42|24 ER—Ag ABTAt 1 | 0.93 0.21 1.21 1.10 0.21 4.69 29.5 [C1{EHA
JNEEEEAR| /)N E] e [MIR+FmRE 5 FssmtR S4HA S4EA 38 38| 2 MHA— AR ARTAY 1 0.08 0.13 1.68 0.26 11.21 42.0 SMEHR
JIEgLEAR| AVIET | B | INIFR R 6 MR Y3t SR 42 A2|2MH—MABR 1| 048 | 0.07 | 0.19 2.74 | 1.02 | 0.07 0.10 | 12.33 | 36.7 | =M
JNEEEEAR| /)N ET wbe  |[INIR+FRb 7 B&IRiR S4HA S4HA 42 42| 2 HEHA—AE AR 1 0.81 0.45 6.71 30.3 S4HA
NIBEEER| AVIET [ /B [N HFR+Rb 9 PEIRAR [EI{EHA SEHR 42 42 | EiEs PRARA B 2 3.29 0.05 12.86 | 12.9 SUEER
Nl AJIET | B 2N+ Rbe 8 [EImtR S4HA 2 4EHR 42 4 | tns 1058 1 ABEAR 0.12 7.90 2 4EHR
NNEgEE®| JNSHE] | & |[EEEABCSEROZR- ) SR 1 PEJRAR 1A [EI1EHA 58 45 | CHEsBN 17-ya0mhE AR L [EI1EHA
NiEgted| NSH | &bk |EEREARBCSFROZR SRk 2 B&IRtR & 14HA & 14HA 60 60 | EERIFEAFTEAR 1 & 4HA
Nt NSH | Kb |EEREABCSFMAOR- ISRk 3 B&IRtR & 14HA & 4HA 60 60 [FEERIRATEAR 1 0.03 E4HA
LR )1 SHT bt |EEEABCSTROKR SR 4 BRI [EI1EHA 8 4HR 60 59| EERIREAREARRN 1 1 4HR
JNBEEEAR| ASLLIET kit |[EEEAEESKRRIRZESIL 1588 & 14HA S 14EHR 38 38| EERRATEAR 1 0.03 1 14EHR
JNBEEEAR| ASLLIET o e =5 INEE =AM WA ) 25EE1RE & 14HA S 14EHR 41 41| EERRAFEARN 1 0.05 2 14HR
JNEEEEDR| WSLLET | R |EEEAEERMEITIRIESI 25EE20E & 14HA &14HA 39 39 [BEERFEAREARR 1 &4HA
NNEELEDR] WSLLET | R |EEEAEERMEITRIEII 3SEE1ME & 14HA &14HA 55 55| BEEREAREAR 1 0.02 & 4HA
JNBEEEAR| ASLLIET miE  |EEEAEERMEIRIEII 3S5EE2[E & 14HA & 14HA 59 59 | BEERRAREAN 1 0.02 & 4HA
JNBEEEAR ASLLIET T ES -5 INEE M WA ) 35EE3ME & 14HA E14HA 60 60 | EERFEAFTEAR 1 0.02 E4HA
JIBEEEAR| ASLLIET kit  [EEEAEESKREIRRESIL 55EE & 14HA S 4EHR 18 18| EERIRABTEARN 1 1 4EHR
JEELELR| )l | Z28EPR |PuEba2EErh [El1EHA [El1EHR 10 10| BRZEATARREARR [Cl{EHA
JNEEEEAR| ) | 28R (b Zy) [EI{EEA =E S 19 13| BRZETARRE AR 1.31 0.08 0.31 EESMEE
NEEEEdR| )M | 2EPh ([EREASVRRIER S4HA S4HA 3 3|BRZEMARREARR 16.33 SU4HEA
LR T | 2%Ph |BHLT1A0UZY) SI4HA “~BA 2 O| ABTRlDfE LU “~BA




BH1—2

MaE75L I THAVSIER

BESUER - SEMOXDERIXDR 1] XBEEZRlIERZEE

= EHEER ORISR S8 2 | xE s BT EErEE

PROETH rmme (0| PR | gy g T S ] OO =7) BN ) = PP B 77 2 =1 oy vy e [P S

ERE | WIS ERIRRE il PV L IS I = 3 PRSI Sl i P s | T el [ el T onibc [Fh |IRET & (Lt CT oo (P20 i
= ‘ - it & it T R [sER |5#EE Fili_ |TM& oA |smma
20 | 05 | 05 | 00 | 00| 05| 00| 0202|8020/ 01]01]10]100] """
I:25%

L] Il | 2R |y s | EEm | C 19 10| mE A ABEAR 0.16 BV
L] JEh | DEF |EREALR -/ —2-5179)=y) EE | 2 10 2| Am P——
L] Il | 2R BB amm | EEm | C 19 13| mE AR AR 0.54 | 0.15 1A
NELEE] T | 2R | PRy BRI SR 2t | 2 4 ] P 4.25 2
LR It | 2R )@y s | e | C 4 1 [ mm RN 1A
LR I | BT (L7 - 20Uy IR ke | e 10 o| s B ABEAR P——
L] Sl | 2R | R AERER EEs | EE 19 10| mme A AR AR BV
L] ST | 2B |BeEmARER 2 | A 15 15| mEre R AT A P—
LLE| ST | 2R |SEER ARPRER s | EEm | C 16 16| B AP AREAR 0.06 BV
NEgLtEr| thiF | Z2Fh |EREAETSSINER SU4HA SUEHA 19 2| BERZEPTABTEAR 1.50 2UEH (FERY)
| /FT | DRF |EREAK TR R i B 1 Ny B
] 7ET | DR |EREAETR/ERAR G St | 2 19 1o|mre A AR EAR P——
L] BB | 2R | AT amm | EEm | C 19 o| s mE AREAR 0.44 1.11 0.67 BV
L] 887 | 2B | B e R EEs | B 19 10|/ m A AREAN YA
L] VI | 2R | R AR Sl | R 18 18| AT A 2.28 S




